20129 =& 3 3 JIEHSE3H JE224 ~ H=H (chel: &)

2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 =28
S Al 50,768,978 49,270,796 1,498,182 3.04%
ALY 49,659,806 48,161,624 1,498,182 3.11%
HWegs 492,337 492,337 0 0.00%
A =2S 616,835 616,835 0 0.00%
BEES 14,435,483 14,435,483 0 0.00%
ootz - =2 11,547,105 11,547,105 0 0.00%
=EHEH 11,265,553 11,265,553 0 0.00%
St (=EMEELE3A) 4,411,811 4,411,811 0 0.00%
AL (SEMEELSIH) 675,001 675,001 0 0.00%
St=ELHelAd XA (=EHEESESH) 2,140,000 2,140,000 0 0.00%
A4UESTHY AR (+ENLELES) 165,019 165,019 0 0.00%
Hegde (4T AMdSESIH) 3,883,722 3,883,722 0 0.00%
Hegs(ed4n) 1,500 1,500 0 0.00%
SBENE (4T AL ELSA) 1,500 1,500 0 0.00%
Hees(ed4mn) 280,052 280,052 0 0.00%
SBENE(=EHNLEEESH) 280,052 280,052 0 0.00%
HOI= 2,888,378 2,888,378 0 0.00%
HolS fIdEe Xel 2,888,378 2,888,378 0 0.00%
EMHS> L Bl (EMNLASESA) 2,888,378 2,888,378 0 0.00%
ALl = Xl 334,707 334,707 0 0.00%
ISR Ry 290, 868 290,868 0 0.00%
MASES g2y X2 290,868 290,868 0 0.00%
=30 (AzESSE3H) 290, 868 290,868 0 0.00%
FAHSXE 43,839 43,839 0 0.00%
Hegs(=olden) 43,839 43,839 0 0.00%
EESSYEIHEENE(AEESSESH) 43,839 43,839 0 0.00%
SEofl 2=t 30,570,661 29,072,479 1,498,182 5.15%
sg-s& 30,570,661 29,072,479 1,498,182 5.15%
SYALSHTA =4 4,014,287 4,014,287 0 0.00%
SEALASMY FU(SHEASHLIIZELS 4,014,287 4,014,287 0 0.00%

A

o @353 6,757,441 5,259,259 1,498,182 28.49%
Zrdesdacl (2 HEBANESLINH) 6,757,441 5,259,259 1,498,182 28.49%
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